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10° 0.1736 0.9848 0.1763
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©sin70° = 0.9397

®cos 50 ° = 0.6428

@tan 70° = 2.7475

ol 7pF L8 718 Fsin20° , 7HF 2 S @tan70° =
2.7475




12. ©he 29 2] o] Aolzt 200m 91 W27 OR 9 30° ©] 2L o]
2ok A4 A 91718 7102 D em 9 Rolol YA A2

/R\30°

@ 30cm @(20—10«/3)cm
® (20 -10v6)cm @ 30V2cm
® 30V6cm

OH = 20c0s30° = 20 x ‘/75

=103 (cm)
5 AH =20-10v3 (cm)




13. o3 2983 2ol 200m BoA e @
2 $10] T 214 A, B oA 717E
=dtf & Zte] 3717} Z42F 45°, 30°
o|tt. AU ZHE 7|72 9] &=

o] AL 80
T~ 200m---

@100(«/3—1)m @ 100v2m

® 100V3m @ 200m

® 100(V3+1)m

B

0|5 h 2t 3PH A+ V3h = 200

(V34+1)h=200..h= \%Oil =100(V3-1)m




14. o2 2HNA 2 4x -5y +20 = 07} x

Z0] o] .320] of

tan 69| g27

©
N =
©
[N

“|%

[s13
=

),

B

4x-5y+20=0

y= §x+4°ﬂ/\1

4
7]%715 = tanf




15.

et 2o BAARGY Yol & 75t
o

@D 41V2 @ 4242 O 432
@ 442 @45«/5

9 % 10 x sind5° — 9 x 10 x Y2
= 45v2




